
424 DOOR PARTS LIST

2#7031934  - Revision A - August, 2014

Service Parts Manual MODEL 424MODEL 424 (SWS #3227000)(SWS #3227000)

Ref # Part # Description

1 NA

2 NA

3 6200780 Screw, #10-24 x 1/2" PH Hex Washer

4 7019722 Hinge, Cabinet Bottom- Black

7019723 Hinge, Cabinet Bottom- Silver

5 NA Part of Bottom Door Hinge Assembly

6 7011247 Screw, #10-24 x 3/4 FL Skt HD, Loc

7 7002351 Spacer, Hinge Bottom Svce

8 7031220 Hinge, Door Bottom Black Svce

7031221 Hinge, Door Bottom Silver Svce

9 7031219 Depressor, Switch Svce

10 6110020 Bolt, #10-24 x 3/8" Truss HD

11 7016667 Shim, Door Black Svce (Overlay Units)

12 6110540 Bolt, #10-24 x 1/2" Flat Socket HD (Silver)

13 7031222 Hinge, Door Top Black Svce

7031223 Hinge, Door Top Silver Svce

14 7002350 Spacer, Hinge Top Svce

15 7011247 Screw, #10-24 x 3/4 FL Skt HD, Loc

16 3541131 Shim, Door Black (Overlay Units)

17 7010594 Gasket, Door Svce

18 7005923 Door, 424 GL O Svce (Glass Overlay, RH & LH)

7005926 Door, 424 HAG O Svce (High Altitude Glass Overlay, RH & LH)

7029751 Door, 424 GL SS RH TH Sq Svce

7030246 Door, 424 GL SS LH TH Sq Svce

7031124 Door, 424 GL SS RH PH Svce

7031125 Door, 424 GL SS LH PH Svce

7029754 Door, 424 HAG SS RH TH Sq Svce

7029755 Door, 424 HAG SS LH TH Sq Svce

19 6110790 Screw, Mach #10-24X1-3/4 Pan HD (SS Units)

20 7029257 Pkg, 3/4” Sq Standoff Svce

21 7029196 Handle, Door Sq Svce

7006853 Handle, Pro 21 Door

22 6160250 Spacer, Door Handle (SS Units)

23 0862340 Shim, Door Hinge (SS Units)

24 7002691 Panel Assy, RH Svce (SS Units - Tubular Square Handle)

7002692 Panel Assy, LH Svce (SS Units - Tubular Square Handle)

7011071 Panel,Overlay SS RH G Svce (SS Units - PRO Handle)

7011072 Panel,Overlay SS LH G Svce (SS Units - PRO Handle)

25 7017864 Gasket, Holder Compression Svce

26 7016482 Seal, Center Svce


	Previous1: 
	Main Menu: 
	next page: 
	424 sws 3227000 Service: 


